EARAROBEEIERT — 2 N— IBISH —F

2012118128 (A) 9mEERE6H

PRl C 2 Ui S5 R—E ‘ (G ‘ [eEmsml  — | & (%) 12000 BB
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. e = FER 14, - . — #HER (KR)
1 3| v IR RS 4 3 ns 1(1_4)8 2-2 38.2 1 ;1_525) el
LT RIA YT w8 Bz ANIRIN— Eapse]
. 44 | WUAHREE 1:14.9 1-1 38.5| — 3 442 | BIAIER] (KR)
2 ) FAAL L 56.0 (3/4) (-3) BAES
L:ZFA4Ad—IK B:TS5M b= iR
—g = — it 3 | REB— 1:15.5 7-4 37.7| — 2 478 | HEB=E (KR)
3 4| ZT1TEATATZ— * 56.0 ) 1) ) F—2HP
R:TLEFFE2T BiY—ULy hFRXTF1Z— REHIS
i 4 4 | FHERER 1:16.1 3-3 39.0| — 4 450 | BIEHE (KIR)
4189 77% 54.0 (4) (+1) |FREMR '
R:vavrheT B:IXb—H% AZXHYTT — LI
—. . . 4 | SthE— 1:16.8 4-5 38.8| — 7 484 | EBEIEE] (KR)
5/7/8|7~3A7xvAYT * 56.0 ) Ly | &) A=z
L h—r BavFYYr pulzsbaet
== B o4 | AIFIE 1:16.8 6-7 87| — 9 467 |tEEFK (ERM)
61717|AT7Z777148— 56.0 F52) 2 775) T
R:IF7IN—FK B:¥avr(3ass BEZ %Y K
SN ft5 | UABUE 1:17.2 8-6 38.9| — 4 424 | RANEEA (BERE)
7 6| TFAX=TNALTI 54.0 2 1/2) 1) | (B J PN
R:7RYS Y7y 7R B:A4FXvI0OR INREUS
. . TR — : - — BEKE (BR)
algliol K7 tTU—7 i3 e 1.(147).9 9-8 39.2 6 (4_4; =
KO- x4 B: o7+ EvilLy RTr—L
N SAs 19. - . — HHEES (BE)
ol 11| rop182 it 6 o 1(139)2 5-8 41.5 8 (5_016) titir
RFZA I - BRI hATRY— BiRHiS
o =nq 4 EBERRE = = = = = — | fEAaKE— (KR)
x| 5|5 | ERAA—T> % #53.0 () ) | B k=247
:FEY RY21=7 B:O—-XH—-F> L e
® 1—F—@EBIERL
13—7-—
2a=5"=
Ja=5= 2,3,9,8,1,7,4,6,10
40—F— 2,3,9,4,8,6,7,(1,10)
[ /N
B 3 150 714K 2-3 140H B 2-3 310M JEE 2-3-4 170
B B 3 1004 3-4 120H B & 2= 310 JEE 3-2-4 810M
2 1004 2-4 170H B E 3-2 340M
4 100

ABICOVWTRDTEEERROODE. TR LIV,




